* Adding decimals

Find each sum. Remember to regroup.

1 1
$7.49 4.18
+ $1.36 + 5.59
$8.85 9.77

Find each sum.

$5.22 4.34 $8.21 3.28
+ $3.49 + 2.56 + $4.49 + 9.22

Find each sum.
2.77 m 6.58 km 7.37 cm 8.09 m
+4.59m + 3.54 km + 2.76 cm + 496 m

Write each sum in the box.

$3.39 + $5.52 = $6.37 + $5.09 =
$7.46 + $9.53 = $8.22 + $1.19 =
377 km + 1.99 km = 524m + 837Tm =

Solve each problem.

Sandra has saved $3.99. Her ﬁ

mom gives her $1.62. How much [ 0 \

does she now have? l 3 3 - %
r \ ) 2
g @

Mrs. Jones’s car is 4.53 m long.

Mr. Jones’s car is 5.24 m long. ) W) w—)

. . Sl e B =
How long must their driveway =%C =
be in order to fit both cars end T
to end? =—=)
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* Adding decimals

Find each sum. Remember to regroup.
1 1
$7.49 4.18
+ $1.36 + 5.59
$8.865 9.77
Find each sum.
$5.22 4.34 $8.21 3.28
+ $3.49 + 2.56 + $4.49 + 9.22
$8.71 ©.90 $12.70 12.50
Find each sum.
2.77m 6.58 km 7.37 cm 8.09 m
+4.59m + 3.54 km + 2.76 cm + 496 m
7.20 m 10.12 km 1013 cm 13.05 m

Write each sum in the box.

$3.39 + $552 = $8.91 $6.37 + $5.09 = $11.46
$7.46 + $9.53 = $16.99 $8.22 + $1.19 = $9.41
3.7 km + 1.9 km = 5.76 km 524m +837Tm = 15.61 m
Solve each problem.
Sandra has saved $3.99. Her €= 11
mom gives her $1.62. How much [ 0 2.99
does she now have? I 2 .02

g +1
$5.61 @;@,&Q 2 % 5.61

Mrs. Jones’s car is 4.53 m long.
Mr. Jones’s car is 5.24 m long.

How long must their driveway 4.55
be in order to fit both cars end +5.24
to end? 977

9.77 m = — g

Children may place the decimal point incorrectly in sums that are presented
horizontally (such as those in the third section). Have them rewrite the problems
vertically, lining up the decimal points. Remind children to regroup when
necessary.
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